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f(x) = 6x% —19x% + 11x + 6

(a) Show that f(x) = (2x — 3)(ax? + bx + ¢) where a, b and ¢ are constants to be
found.

(b) Hence factorise f(x) completely.

(<) Write down all the real roots of the equation f(x) = 0.
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f(x) =4x*—7x -3 c;>

(a) Use the factor theorem to show that (2x + 1) is a factor of f(x). <DC - P) TS ARACTOR TF -F (?) = O
21

(b) Factorise f(x) completely. (2;@ + \> =0 N~ —,‘_
[41 2

(¢) Write down all the real roots of the equation f(x) = 0.
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f(x) =4x*—7x -3

(a) Use the factor theorem to show that (2x + 1) is a factor of f(x).

(b) Factorise f(x) completely.

(¢) Write down all the real roots of the equation f(x) = 0.
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f(x) =4x*—7x -3

(a) Use the factor theorem to show that (2x + 1) is a factor of f(x).
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£(x) = x* + rx? + sx - 30. Given that f(2) = 0 and f(~3) = ~240: @ x 3% |12r +6 g = é é

(a) find the values of 7 and s. G rxz ® l Cv -be = -3 L4
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£(x) = x* 4+ rx? + sx = 30. Given that f(2) = 0 and f(~3) = —240:

=-10 S =3)
o L= x*-10%% +31% =30

(a) find the values of r and s.

(b) Factorise f(x) completely.
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Divide x* — 19x — 30 by (x — 5).
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f(x) = x* — 28x + 48

(a) Find the remainder when f(x) is divided by (x — 3).

(b) Given that (x + 6) is a factor of f(x), factorise f(x) completely.
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f(x) = x* — 28x + 48
o b) -2 e+
(a) Find the remainder when f(x) is divided by (x — 3).
By IngpecTioN
121 —bxt
- - N 6"1 2

(b) Given that (x + 6) is a factor of f(x), factorise f(x) completely. —
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(a) Show that f(x) = (2x — 3)(ax? + bx + ) where a, b and c are constants to be éDCg —1 q % [1oc + é
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(<) Write down all the real roots of the equation f(x) = 0.
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